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L. The value of the digit *7” in the 5. Convert 20y to a base 2 numeral.
number 57382 is
AL 10,
A Tz 10 : B. 101,
B. 7x 10 C. 1010,
1
D. 7x10 6. A building with.20 floors has 20
windows on each floor. If it takes
2. Ken makes 5 cups of juice using 20‘ minutes to clean each
2 cups of orange concentrate and window, how many minutes does
3 cups of water. How many cups 7 it take to clean all the windows
i of concentrate will he use ina of the building?
- similar mixture containing 12
cups of water? A, 40
A R
o C. 800
B D. 8000
C. 20 ;
e 7. Inaparticular week, Mary
: : eI W worked 8 hours per day for 3
3. After spending % of his weekly days and 4 hours per day for 2
allowance Ben had $75 left. How days. She il paid $10 per hour.
ss——=much-was his allowance for the How.much did she earn for.that.
‘ week? : week?
| i S R e PR e
o D6 s e B B3200
s ot T A C. $400.
D. $200 D. §600.
4. Calculate the difference 8. Andrew Went to the bank to
betieen 10° and 10> change his US 50 cents for cash
in Trinidad and Tobago currency.
: If the exchange rate for cash is
= US$1.00 = TT$6.00, how much
b ‘ TT money does he get for his 50-
¢ 100 e
- By 0000 -
BN A. $0.30
i aslirit B o e B. $3.00
e C. $30.00
D. $300.00
. GO TO THE NEXT PAGE
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A. 569.

The length of the arc AB in the

B. $391.
C. $§400.
D. §445.

figure above is represented by

X circumference

90
4 %360

A.

10. Merle borrows $5000 from a

bank. The bank charges sirnplé

interest at a rate of 5% per

annum on the loan

90 X circumference

360

B.

How much

.

will Merle actually repay at the

C. 2x90 x circumference

?__________, el

ears

P2y

end o

360

$250.
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11. The diagram abovershows a

A circular jogging track of

Bt
[
5 B
g 2
ﬂO
o o
eI )
2 5
L
Q O
§§.o
m.pm?.:
+ o B
— = o
ﬂT.lw.
e e =l
ium‘
= th bh
|
|
e
- 58
£ &lg
B g
2.0 84
[=11] en
g g o
S8l
mmmmm
a.awnm
1]
an Q
E g o
B.3.g.
“pCt
gE 8
£585
Q

required to cover the window?

L

A.

> 2.80‘17,_..__,,,,,,,,“_, —
. 357
D. 434

n
D,

D, 616
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14, Calculate the perimeter, in

17. When expressed in kilometres,

. metres, of the shape below. 6375m is equal to
A. 0.6375
‘[ B. 6.375
A C. 63.75
= 4 D. 637.5
2m
: ,L 18. If 2y —1<5, whatis the
<« P > largest Possib‘Ie .value ozf y that
: will satisty this inequality?
; A 11 ‘
i Bolg™ Ao 2
L HEWR S o B
D...28 . (-5
| S B 6
| ~15. John walked a distance of 2 km
i in 20 minutes. At what speed in
' I s i e onit
] ol o
v N
\ o
N i
I~ L
& Yol ¢ 2m
L S TR i e S T it
| } The height, h, in rrietres, of the ol
15 __tank shown above is B. 61
2 ; C. 71
i i S, e D. 81
BiGame . o )
} €—20m
} D. 1%80m GO ON TO THE NEXT PAGE




i | 20. ‘ 22. Which set below represents the

. set of all integers from -1 to 2?
& ’ A. {0, 1}
_ 40 / B. {0’ 12}
E . 3
— /
-G / ‘ C. {-1,0,1}
E 20 i =
3 / D {-1.0,1,2}
10-/ : :
: RN T 93
Time (Hours) T \
 — 1 ™

~ The diagram above shows a graph . .
describing the journey made by a D %o
__carin 5 hours. Whatis the distance sy

i travelled by the car after 4 hours? et o | S
A. 20 | R
B e -
€54 — :
- 3 71 00 R 0 000 Jhearrpuwdiagramabove
: o ot ; represents a mapping which is
=  A. onetoone
C B Sorctomany -
= p - C. manytoone
: D. manytomany
o - X 24. Simplify 6a +7b —2b+5b.
A. 6a Y
B. 16ab
- _ C. 13ab-7b
i F;{rom the Venn dfagfrg:‘m above, D. 6a+ 10b
list the elements in A .
A (6.3 e e
G2 ,,4;_5 —_ G
D- { 2: 2, 53 2 8} T o _C 7 :
B B9
3 GO TO THE NEXT PAGE
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26. The points (1, 1) and (2, 3) both
lie on the line with equation

75
+1
: 2x
.y=2x-1

S
I

o0 wp

27. ABCD is a rectangular
swimming pool, as shown. If AB
=8 m and BC = 6 m, calculate

—-——the-distance-aeross-the-peel-from -

Ato C.: e e o I

29.

30.

[fx=-2,then 2x’ isequalto

A. -16
B. -8
&5

D 16

If a pineapple costs $p and a

mango costs $g, write an
algebraic expression, in dollars,
in terms of p and g for the total

_cost of 5 pineapples and 3.

mangoes.

(A ptyg

m

(B)8pq
(C) Sp+3q
(D) 15pq

T
L
3
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i o 31. On the graph below, A ABC is
. A i mapped on to A AB'C' after
7 b undergoing a transformation. The
AT 9m transformation can best be
B. g0 described as a
i S S e D R s O SIS b L S C’ C
| ' ; al
A, &#-8a-15 A s
B. a+ 2 +15
| C, & ~Ba+1s5-
i D & +2a-—15 B’ >
‘ %
LSt A. translation in the x-
i direction e R
B. reflection in the x-axis
ok i C. translation in the y- direction
I D. reflection in the y-axis
—— T
= GO TO THE NEXT PAGE



t is the value of x, 34. The parallel lines in the

S0 R 9 quadrilateral below are
12 x 3

ekl . e A

— BOOKS READ+~=— A. ABand DC !
e S B. ABandBC

O L / & ABanlBE

: i D. ADand DC

35. A box contains 3 green bottles, 4
red bottles and 5 yellow bottles.
al lata thomealhalhilisethat-a
CalLuidic i PLUUCI.U].LII-J Uldi a

bottle chosen at random is red?

| e
| 12
| N Sl
| S
| the graph-above,- _ T e S
did Linda-and Pamrread== - 12
‘ e e i
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36. A survey conducted with 100
students about the type of
transport they used to go to
school revealed the following:

‘Mode of No. of
Transport | Students
Bus 10

Car . T8

Maxi Taxi - - 50
Walk (By foot) 25

 Which diagram below best _
represents the information?

|
|
i

37. The frequency polygon below
shows the number of days off
that a student takes from school
over a four month period.

~

>

w

Frequency (Days)
FS

» e

a

Sept. Oct. Nov. Dec.

Month

In which month did the student
" take the most days off from

school?

A, December.

B._November
_.C. October

7 D. September

38.

A = 1 .

t
In the triangle above AB # BC.
o Whieh-of the following is trae?-—— -

A, x=90°
B x=0
S )

D: o xt3=-180°

GO ON TO THE NEXT PAGE



Questions 39 and 40 are based on
the information presented in the

graph below.

The chart below shows the ages of
students in the lower Forms at Elton
. Brown High School. _.
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| ? 39. What is th ge of - o
L ~gtudents in the Tower school?
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~ 40. How many students are there in

~  the lower school?

a1 _ A. 50, it e e T

END OF TEST




